

## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/28/2025 4:30:34 AM

				General De	tails						
Parcel ID:	1	75-0071-008	40								
Document:	Abstract - 1255665										
Document Date	<b>e:</b> 1	2/29/2014									
			Leg	al Descriptio	on Details						
Plat Name:	٩	/IT IRON									
Sec	tion	То	wnship	R	ange		Lot Block				
1	1		58		18		-		-		
Description:	E	1/2 OF E 1/	2 OF SE 1/4 OF	SW 1/4 OF NE	1/4						
				Taxpayer De	etails						
Taxpayer Name	<b>;</b> P	ETERSEN D	ENNIS								
and Address:	8	556 SPRING	PARK ROAD								
	Ν	IT IRON MN	55768								
				Owner Det	ails						
Owner Name	Р	ETERSEN D	ENNIS R								
			Paya	ble 2025 Tax	Summary						
		2025 - Ne	t Tax	ах			\$1,612.00				
2025 - Speci			ecial Assessmer	al Assessments			\$0.00				
		2025 - T	otal Tax & S	al Tax & Special Assessments				\$1,612.00			
				Tax Due (as		25)					
	Due May 15			Due Octob		, 		Total Due			
2025 - 1st Ha	lf Tax	\$806.00	2025 - 2nd Half Tax \$806.00				2025 - 1st Half Tax Due \$0				
		·									
2025 - 1st Half Tax Paid		\$806.00	00 2025 - 2nd Half Tax Paid		\$806.00		2025 - 2nd Half Tax Due		\$0.00		
2025 - 1st Ha	If Due	\$0.00	2025 - 2n	2025 - 2nd Half Due \$0.00			2025 - Total Due \$0.				
				Parcel Det	ails						
Property Addre	e <b>ss:</b> 8	556 SPRING	PARK RD, MOU	JNTAIN IRON M	Ν						
School District	: 7	12									
Tax Increment											
Property/Home	steader: P	ETERSEN, D									
				nt Details (20	-						
	Homeste		Land EMV	Bldg EMV	Total EMV		Land MV	Def Bldg EMV	Net Tax Capacity		
Class Code (Legend)	Status	1	\$26,200	\$138,300	\$164,500	1	\$0	\$0	-		
Class Code (Legend) 201	Status 1 - Owner Homes (100.00% total)	tead		1		1			-		
(Legend)	1		\$3,600	\$19,100	\$22,700		\$0	\$0	-		



## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



## Date of Report: 4/28/2025 4:30:34 AM

				Land D	etails					
Deed	led Acres:	2.50								
Wate	erfront:	-								
Wate	er Front Feet:	0.00								
Wate	er Code & Desc:	W - DRILLED WELL								
Gas	Code & Desc:	-								
Sewe	er Code & Desc:	S - ON-SITE SANIT	ARY SYST	EM						
Lot V	Width:	0.00								
Lot D	Depth:	0.00								
	dimensions shown are no ://apps.stlouiscountymn.					e found at ions, please email <mark>PropertyT</mark> a	ax@stlouiscountymn.gov.			
		Im	provem	ent 1 Deta	ails (RESIDEN	CE)				
Improvement Type		Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
	HOUSE 0		1,344		1,344	ECO Quality / 758 Ft <sup>2</sup>	RAM - RAMBL/RNCH			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1	28 48		1,344	BASEMEI	NT			
	CN	0	9	10	90	BASEMEI	NT			
	DK	0	7	9	63	POST ON GR	OUND			
	Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC			
	1.5 BATHS	4 BEDROOMS	-			0 0	CENTRAL, PROPANE			
			Improve	ment 2 D	etails (Res DG	<b>a</b> )				
Ir	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
	GARAGE 0		1,440		1,440	-	DETACHED			
Segment Story Width Length Area Fou					Foundati	Jation				
	BAS 1		30	48	1,440	FLOATING S	SLAB			
		Imp	oroveme	nt 3 Deta	ils (GARAG/SH	HOP)				
Ir	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
	UTILITY	0	3,24	40	3,240	-	EQP - LT EQUIP			
Γ	Segment Story Width Length Area Foundation					on				
	BAS 1		45 72 3,240		FLOATING S	SLAB				
		Ir	nproven	nent 4 De	tails (STORAG	βE)				
Improvement Type		Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
	UTILITY	0	3,24	40	3,240	-	LT - LT UTILITY			
	Segment Story		Width Lengtl		Area	Foundati	on			
	BAS 1		40 81		3,240	FLOATING S	SLAB			
Improvement 5 Details (TRK BOX- 3)										
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.										
STORAGE BUILDING 0 688 688										
51	•	Story	Width	Length	Area	Foundati	on			
SI	Segment	otory								
	BAS	0	8	20	160	POST ON GR				



St. Louis County, Minnesota



		Improvem	ent 6 Detai	Is (NV LOG BLI	D)					
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> Ba		asement Finish		Style Co	ode & Desc.	
STORAGE BUILDIN	G 0	24	0	240		-			-	
Segment Sto		y Width	Length	Area		Foundation				
BAS		12	20	240	POST ON GROUND					
		Improvem	ent 7 Deta	ils (FUEL TANK	()					
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Baser	nent Finish	S	Style Co	ode & Desc.	
	0	1,0	00	1,000						
Segmer	nt Stor	y Width	Length	Area		Foundation				
BAS	0	0	0	1,000		-				
	:	Sales Reported	to the St.	Louis County A	uditor					
No Sales informat	ion reported.									
		A	ssessmen	t History						
	Class					Def		Def		
Year	Code (Legend)	Land EMV	Bld EM			Land EMV		dg MV	Net Tax Capacity	
	201	\$28,100	\$142,	100 \$170,2	200	\$0	ţ	50	-	
2024 Payable 2025	233	\$3,800	\$18,4	00 \$22,2	200	\$0	9	50	-	
, i i i i i i i i i i i i i i i i i i i	Total	\$31,900	\$160,	500 \$192,4	400	\$0 \$0		50	1,723.00	
	201	\$28,100	\$147,	700 \$175,	800	\$0 \$		50	-	
2023 Payable 2024	233	\$3,800	\$19,1	00 \$22,9	000	\$0	9	60	-	
	Total	\$31,900	\$166,8	<b>300</b> \$198, <sup>-</sup>	700	\$0	\$	60	1,888.00	
	201	\$28,100	\$136,	500 \$164,	600	\$0	\$	60	-	
2022 Payable 2023	233	\$3,800	\$17,7	00 \$21,5	500	\$0	\$	60	-	
	Total	\$31,900	\$154,2	200 \$186,	100	\$0	\$	60	1,745.00	
	201	\$18,500	\$118,	100 \$136,	600	\$0	\$	50	-	
2021 Payable 2022	233	\$2,500	\$15,5	00 \$18,0	000	\$0	\$	60	-	
	Total	\$21,000	\$133,	600 \$154,	600	\$0	\$	50	1,387.00	
1		1	Tax Detail	History					1	
Tax Year	Tax	Special Assessments	Total Ta Specia Assessm	d	and MV	Taxable Buil MV	ding	Total	Taxable M\	
2024	\$1,856.00	\$0.00	\$1,856.	00 \$28,4	177			5177,282		
2023	\$1,772.00	\$0.00	\$1,772.	00 \$28,0	)72	\$135,60	2	\$	5163,674	
2022	\$1,572.00	\$0.00	\$1,572.	00 \$17,6	622	\$112,03	2	\$129,654		



**PROPERTY DETAILS REPORT** 





Date of Report: 4/28/2025 4:30:34 AM

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.